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1] Ui 51 5 46 0 4 25 17 — —
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1] Ui 25 0 25 — 7 15 3 — —
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wmELE| 1759 599 - - 52 41 - - 1,067
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m 6 2 0 0 0 0 - - 4
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" % 16 2 - - 1 5 - - 8
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ha m? ha ha m?®
¥ M 39,837 22807 ( 0) 0 5 1,704
EEERHERBFR 4,783 863 — — _
2EBmH 4,735 854 — — _
0 K HT 48 9 — — _
WHEHEHR 496 157 — — _
o FH 320 129 — — _
FERG K SHT 63 13 — — _
+ B BT 52 9 — — _
A # T 30 3 — — _
T & HT 31 3 — — —
ArEEHERR 3,011 924 — — 54
T #h 446 124 — — _
v i ] 487 89 — — 50
Brmh 2,078 711 — — 4
LA =TT 15,400 6,733 — — 620
IT=l 13,249 5,990 — — 620
;R 2,151 743 — — _
EMENEHRT 1,445 758 — — _
FEHH 679 193 — — _
e ] 264 95 — — _
s/ NEF ™ 502 470 — — _
TEEMREHR 812 762 — — _
TEM 812 762 — — _
RABMEHR 2,852 2,390 — 1 350
~MA™ 2,852 2,390 — 1 350
HENEBAR 11,038 10,220 — 4 680
F 8,395 8,498 — 4 680
Bl HT 2,643 1,722 — — _
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